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4. What is a valid probans ? Bring out the characteristics of
a valid probans. 1+4=5
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What is the laksana of smypti 7 What is the significance
of the word matra used in the S?a;a of smrti?
Discuss following annarhbhatta. In this context discuss
why Annambhatta refuses to accept pratyaphijiia as
smyti . | 2+4+4=10
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Discuss the laksana of vyapti following Tarkasamgraha.
Do you think that this laksana is free from defects 9

Discuss. 3+7=10
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Answer within 200 words
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Discuss &m,mama types of savyabhicara hetvabhdsa with
example. 5
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Is there any difference between Tarkasamgraha and
Tarkasamgrahadipikd in respect to the laksana of

hetvabhasa 7 Discuss. 5
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